/ é 5 4 3 2 |

1500 GATE 9000 L GATE 9000 C GATE 9000 L PNE GATE 9000 C PNE
F—T r&, 835 628 985
265 265 265 415 265 415

980

680

i L

=N =

3 VAOS GATE 9000
50 612

194

885 885 886 Q
I e e 2 | b— — D— D— — p—
i ¥ ¥
Q Q E Y \_/ \_/ \_/ \_/
2 VAOS GATE 9000 PNE
612 912
50 50
886 1185
T A
¥ ¥
A A




	Folha1
	Vista de desenho2
	Vista de desenho3
	Vista de desenho7
	Vista de desenho8
	Vista de desenho10
	Vista de desenho11
	Vista de desenho12
	Vista de desenho13
	Vista de desenho15
	Vista de desenho17
	Vista de desenho18
	Vista de desenho19
	Vista de desenho20
	Vista de desenho21
	Vista de desenho22
	Vista de desenho23
	Vista de desenho24


